Name: Date:

Brain Teaser

Answer the questfions.

A boy is 2 years old. His brother is half as old as him. When the first boy is 100, how old
will his brother be?

answer:

If 3 cats can catch 3 bunnies in 3 minutes, how long will it take 100 cats to catch
100 bunnies?

answer:

If eggs cost 12 cents a dozen, how many eggs can you get for $1?

answer:

Mr. Lee has 4 daughters. Each of his daughters has 1 brother. How many children does
Mr. Lee have?

answer:

What can you place between 8 and 9 to make the outcome greater than 8 but less than 9?

answer:

If a hen and a half lays an egg and a half in a day and a half, how many eggs will half a

dozen hens lay in half a dozen days?

answer:

When does 9 + 5 = 2?7

answer:

Using only addition, add eight 8s to get the number 1,000.

answer:

A farmer had 17 sheep. All but 9 of them ran away. How many sheep does she have left?

answer:

Two years ago, | was three times as old as my brother was. In three years, | will be twice

as old as my brother. How old is each of us now?

answer:

888 + 88 + 8 + 8 + 8 = 1,000 A decimal (8.9 is greater than 8 but less than 9.)
The older brother is 17, and the younger brother is 7. 2 dozen, or 24 eggs

When you're telling time. 9:00 + 5 hours = 2:00 9 99 3 minutes

5 (All of the daughters have the same brother.) 100 eggs (The eggs cost 1 penny each.)




